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Phép trir s6 thap phan (3 chir s6)

Tén:

1.361
—-3.497

8.584
-5.375

9.877
—-/.776

2.346
—/7.507

9.431
-4.778

1.4
—5.065

1.501
-5.516

5.951
—8.62

3.275
—6.426

7.956
—3.486

7.018
—-2.509

1.773
-5.674

5.576
—-2.911

2.901
—7.985

1.886
-4.24
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Ngay thang:

8.312
—-5.386

8.574
-4.471

—6.369

1.772
—38.087

3.497
—-7.634

Piém:

8.668
—3.389

8.496
-/.876

0.217
—-8.532

2.228
—-5.188

3.468
—-6.18
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Tén: Ngay thang: Piém: ____
1.361 1.4 7.018 8.312 8.668
-3.497 -5.065 -2.509 —-5.386 -3.389
-2,136 -3, 665 4,509 2,926 5,279
8.584 1.501 1.773 8.574 8.496
-5.375 -5.516 -5.674 -4.471 -7.876
3,209 -4,015 -3, 901 4,103 0,62
9.877 5.951 5.576 2.9 0.217
-7.776 -8.62 -2.911 -6.369 -8.532
2,101 -2, 669 2,665 -3,469 -8, 315
2.346 3.275 2.901 1.772 2.228
-7.507 -6.426 —7.985 -8.087 -5.188
-5, 161 -3, 151 -5, 084 -6, 315 -2, 96
9.431 7.956 1.886 3.497 3.468
-4.778 -3.486 -4.24 -7.634 -6.18
4,653 4,47 -2,354 -4,137 =2,712
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